or ‘paper contains 8 printed pages.]
Your Roll No...............

: 201 D

2412091101

. Business Organisation &
Management

~ Name of the Course o

Com. (Prog.) (NEP)

Semester

Duration @1@ Hours '

PR " 1k

Write your
of this ques

Attempt all
All questic

Answers -
but the s
paper. "




201 2

» @ A weT Fifog |
3 Ot R @ wE AE F

4 T V- TF w1 I Aden a1 fBR R v v # Afow, Afe
AW IFA &1 AAH UF B BT IR |

1. (a) “Modern organisations are an integral part of our

lives today”. Discuss. 9)

(b) What do you mean by Franchising? What are

its advantages to the franchisor and the

franchisee? 9

Or

(a) What considerations should bewkept in mind while

choosing a form of business? (9)

(b) Explain the concept of “Brick and click”™ business.
What are the advantages and disadvantages of

online business? 9)

2. (a) What is meant by social responsibility of busines.s?f..
Explain the social responsibility of business towa f

consumers and investors.
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(b) Explain the meaning and layers of business
environment. How does its social and cultural

dimensions influence business decisions? (9)
¢

Or

(a) Discuss the significance of “idea generation” for
an entrepreneur? What sources of information can
an entrepreneur utilize in this regard? (9)

(b) Define business Ethics and explain its significance.
anni e the steps
o,
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4: (al What is Motivation? Explain Mc Gregor’s Theory
X and Theory Y of Motivation. (9)

(b) Define leadership. Explain various styles of
leadership. | . (9)

Or

(a) What are the main barriers to communication in
an organisation and suggest measures to remove
_ . ‘ |

them? E (9)

(b) Discuss the
the requirement
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. (a) India has profited immensely from the services

led growth in recent years. Is it possible to

sustain the service led growth in the years ahead. ’
Explain. 9) |

(b) Define MSME’s. Briefly explain the role of
MSME’s in Indian economy. (9)

OR

)What are the problems faced by the small 4
g busmcsses in India? Explaxn in brief t] q_,: > steps




ation is suitable
terprises?  (9)

What are its salient
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(b).Deﬁne' Private and Public company. What are the

privileges available to private company? ) |

() W&, 19 3R Hezw I @ iy EERE dsT
F - T I9gE 27

() % Sy R et #7 5wt g e
L1l

3. (a) What is project organization? Explz

Under what circumstances it s most

(b) What do you megp, by organization

is it important? Differentii@te betwee
informal organizaticn.



OR

 What is product organization? Explain its features.
3 rits and demerits. ©)

stinguish between the Functional and Staff
‘ganization Structure. Enumerate any three

tivities in which the both are suited respectively.




211 6

(a) Briefly explain steps involved in hiring human

)

4.
resource in an organisation.

(b) Define management. Explain the important
challenges a management has to face in future.

)

OR

(a) Explain in brief the theory of scientific

%)

management.

(b) “Decision-making is the essence of man:

Comment.




213 7

(@) “Frfa M w oW R R

5. Write a short note any three from the following :
(3x6=18)

b

(a) Auxiliaries to Trade

Aatrix Organisation
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1. State True (T) or False (F). Give reasons for the

same :

(a) MS Word is a system software.

(b) FIND command inW_ord is used to find only the

specific text. a3l

(¢) In Spreadsheet 'TI'F is used to count

numbers of two . s with one condition.

3

- (a) What is text ¢
- different types o




.

(a) Explain the steps to insert a line chart in
5 Spreadsheet? Give suitable examples to
differentiate between bar and line chart,

(b)- What do you mean by ;;age formatting? Name the
different types of margms that can be set in page
formatting. bl _ (8x2)

3. (a) Discuss in detail various application of computers
in Business.

(b) Explain various keys of a relation in a database
system

: OR
~ (a) What is the difference between serial and
A ¥ sequential ﬁles?H w searching is applied:qgf.’both?

R i Wt (b) What is system sof:

. 3. i"'

| 'fipphcatlon softWat
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(b) Discuss various Options available in Word for
Paragraph formatting, (8’(2)

5. (a) Explain the use of financial functions in
Spreadsheet. Differentiate between PMT, IPMT,
and PPMT functions.

(b) Explain the difference between Slide master,
- Handout master, and Notes master in PowerPoint
presentation. .

OR

(¢) Explain the use of ROUND, ROUNDUP, AND

ROUNDDOWN function with the help of gnttable fé
- examples. WS L

' ' 3 j,"#’. , A
(@ ‘Write the syntax of i lo mgfunetions wﬁi:

~ the help of suitab. . | Rt |
> () STDEV
(i) COUNTIF

at are the t
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(a) Define relationship and its various types.
(b) Explain the following with an example :
(1) Network‘database model

(11) Object oriented database model (8x2)

7. Give the results of the following functions :
(a) =SQRT(-40)
(b) =ABS(-12.568)

(c) =MODE(12,,6,3,3,4,8)
(d) =RoundUp(12.567,2)
~ (e) =Max(12, Min(18,24)) (2x35)

&4 ;
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/ou mean by lifting of the corporate veil?
the statutory provisions under which the
ate veil of a company may be lifted.

e a One-Person Company. How can it be
erted into a private company?

ooy 3

plain the law r
lause of Memo

Capital’.
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- (b) "A company cannot justify a breach of contract
by altering its Articles of Association”, Comment.

(c) What do you mean by a misleading prospectus?

What are the effects of misstatement in a
|
! prospectus? |

OR

(a) Explain Turquand’s rule Are there any exceptions
to it?
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; emoved?
(a) How can directors of a company be 1

(b) What are the provisions of the Companies Act,

2013 relating to audit committee”?

(¢) Explain provisions under the Companies Act, 2013

relating to Annual General Meetings.

4. (a) What are the powers and duties of a managing
director? How is a managing director different

from a whole-time director?

(b) Distinguish between ordinary resolution and special

_ resolution. Give suitable examples of each.

(c) Explain the meaning of dividend. What are the

rules regarding payment of dividends?
‘ OR

(a) Directors owe a duty of loyalty and care
performing their duties. Do you agree? Explai
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5. (a) Discuss the grounds under which a COmpany cap

be wound up by the NCLT.

(b) What is a depository system? How does it
function?

(c) What do you mean by Quorum of 2 meeting? State
the consequences if guorum 1s not present in a
company meeting.
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carncd |/ PECKIOUS year is chargeable to tax in asscssment year." Is there any

ption 1o this

wf afla 7

r. Sumit an [ndian left India for the first time on 3 1st March, 2021 for employment

in USA. He come Loy
- pllowing incoim
: e for the .l\n.“ 202223

Amount (Rs.)

t
| Profit from s business in London managed from Delhi 1,25,000

L b

0 Salary from form

e

%‘vreut on US G

eceived in London 15,000

20,000
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[ XYZ Lad., retired from the company on 30th June, 2021,
ﬂiﬂm Rs. 50,000 per month. He was also entitled
s basic salary, 80% of which is considered for the
1 of attct b on
E cahuhl it benefits. He had worked with the company for 12 years,
11 mon d15d b s of :
Esontha on  time of his retirement the comp?ny paid him a gratuity of
5.00,000 ( omp e . ‘
. of exempted gratuity if he is not covered by the

at of Gratun!y

' ¢ Ravi, a Gens
the time of ¢!
jo dearness allo !

e under the head of salary 1f MR. Ravi has opted for
“m.

, compute the !

pate tax regim

.A'-.\

f.tksgmawamgwhw
R 'mw uﬁ{a%awﬁ 30%&!%

L @, XYZ L. ?
& @, T A
WA B W
W #) I
& W W A

@ e, aft s
® WA

| tax treatme
Tl.x Act, |4
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From the following details, find out th

“'Mnt year 2022-23: H';-" g 42
o .;..f‘:‘“-i_;if‘ :

Mr. X was appointed as M Officer by A Ltd. on |t | cbruary. 2020 in the scale
“;h 30,000 - Rs. 5,008 .Mm DA is paid @ 15% o! Basic Pay (it forms part

of salary for retirement benefits) and bonus equals to two mon(h- basic pay. He contributes

Rs. 1,10,000 towards his recognized provident fund. The employcr company also contributes

the same amount He is provided with rent-free accommodation at Mumbai which has

: * taken on rent by ~ i _: ﬂkl. 20,000 Shrmllh. 1o is also provided with M“

ing facilities:
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&

ing from Nagaland Lottery (net of 30% TDS), Rs. 70,000.

ated Rs. 10,0 to Prime Minister's National Relief Fund during the year.

ibuted to political party a sum of Rs. 5,000 in cash.

 on the last day of each month and X has not opted for alternate

on 115BAC.

e salary falls ¢

- FEFAT A 2022-23 @ faw St X (Fg 32) WA Y@ IE

-
.

20 @ A Lid. 81 50,000 ¥ - 5,000 ¥ - 70,000 ¥Wd F
B W A Pigew few o own Sy @ qIEE AW ¥ R 15%
 (ar g A @ fe A e 2) o AR A AR
A aF IO AR W wEE B @ fw 10,000 ¥R O
it T A el A w3 qEE d -
o w0 gm zopwﬁm§m w o w

"B

ol

'ﬁi@ af & N 20,000 7




"H-mazmn w 70,000 T 3
! o i 2 St @ R0 S

I1SBAC &

the following in



600,000 4,20,000

10,000 80,000 :

iod (number 2 months 4 months ‘
‘account of vaca 100,000 1,40,000
taxes paid 40,000 50,000
5.000 7,000
20,000 30,000

25,000

66,000

1,40,000

ﬁaed for cor out for
‘occupation = residence

A

assessment year 2

of Mrs. X and
ternative tax



s | (%)
3,50,000
360,000
3,00,000
6,00,000

10,000

o WA
1,00,000
- 40,000

5,000

s 20,000




non-listed) share api
facquisition on Jung 20&5 Rs. | 5&;@00 CXPenses on sale: Rs. § 000) On July
he owns one re & s

54F, X deposits on
- for investment ir

wing from the Deposit Account,

o iy , 2023 for Rs. 4.80,000.

?,ﬁ%*«
ﬁ .



324

30 g, 2022 ® X A ﬂ ..
S @ A A 6,00,000 !& *ﬂi‘ B fow, a5 6 g, 2023 T faeslt % 4,80,000

‘}{\7_13 !
T ¥ UH g FEH B OwY L

4. From the Profit and L
March, 2022, ascerta

General expenses

~ Bad debts
Advance tax

E Insurance



- 2

'mi‘d debts rccovered (earlier

~ allowed as deduction

4,000 Interest on debentures (i.e

23,000 Rs. 2,500)
; 1, £ 48,000 Interest on deposits with a
7,000  company (non-trade) (net

interest: Rs. 11,700 + TDS:

42,000 net amount Rs. 22.500 % TDS

-

11,000

- 25,000

13,000
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- 2 , 20,000
Rs. 6,000 as premium on own life insurance policy ! Rs. 70,0

- ;,',,Eﬁpcnses include: *

: : ;A has recent
a) Rs. 500 given to Mrs. X for arranging a party in honour of a friend s ly

ﬂ'l
~ come from Canada;
ST

( RS 1,000 being contribution to a political party.

(vi) Loan was taken from Mrs. X for payment of arrears of income-tax.

311!&' 2022 & @E BN AR A€ B f X (g 31 @, ) & @ 3K EE e

%,mﬁzozz—za%mm@m@;mmﬁmmm:
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23,000

48,000

7,000

13,000

4,26,600

9,12,600

% 2,500)

v woq @ @9 B T 13,000
v o w e (FfEa)

(e o)

T 1,700 + ZETE

%. 1,300)
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Passage 1 (750 words)

“reason. It was not that they wanted to bully or har

Even our college principal, Professor Khanapure, went
out of his way to inquire about my welfare and if any_:

boys were troubling me.
However, I can’t say the same about my classmates.

One day, they brought a small bunch of flowers and
stuck it in my plaited hair without my knowledge when
the teacher was not around. I heard someone shout
from the back—‘Ms Flowerpot!” I quietly ran my
fingers through my hair, found the flowers and threw ‘
them away. I did not say anything.

At times, they would throw paper air planes at my
back. Unfolding the papers, I would find comments
such as, ‘A woman’s place is in the kitchen or in

medical science or as a professor, definitely not in an |

engineering college’...] was a target of Kannada .i
limericks...All the boys would then sneak a glance at |

me to see my reaction, but [ would simply hold back%
my tears and try my hardest to smile... 3

... I knew that my classmates were acting out for
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me with deliberate intention as is the norm these days.
It was just that they were unprepared—both mentally
and physically—to deal with a person of the opposite
sex studying with them. Our conservative society
discouraged the mingling of boys and girls even as

friends, and so, 1 was as interesting as an alien to

them. My mind justified the reason for the boys’
behaviour and helped me cope. And yet, the remarks,

the pranks and the sarcasm continued to hurt.

My only outlet in college was my actual education. |
enjoyed the engineering subjects and did very well in

my exams. I found that I performed better than the

boys, even in hard-core engineering subjects such as
smithy, filing, carpentrir and welding. The boys wore
blue overalls and I wore a blue apron over my sari.
I knew that I looked quite funny, but it was a small

price to pay for the education I was getting.

When the exam results were announced, everyox;e
else knew my marks before I did. Almost every
semester, my classmates and seniors would make a
Asingulat effort to find out my marks and display them
on the notice board for everyone to see. I had

absolutely no privacy.

P10,




o ]

Over the course of my studies, I realised that
belief ‘engineering is a man’s domain’ is a com
myth. Not only was I just as capable as them,

?,
scored higher than all my classmates. This g '.‘

additional confidence and I continued to
single day or a siﬁgle class. I persisted in s
hard, determined to top the subsequent examin.
In time, I became unfazed that my mar"
displayed on the notice board. On the contrary,
proud that I was beating all the boys at thei

game as | kept bagging the first rank in the

My ability to be self-sufficient made me
- the boys eventually started to respect
dependent on me for surveys and drawings an
- me for the answers of the assignments. I
make friends... ¥y ,;'

' [ L

...Between my classes, I also spent much
library and the librarian became very fond
tiine,_ eventually giving me extra books.
~ frequently to the gardener about the
be plantcd In front of the college, and d
years there, | had him plant coconut t
Igoto BVB now, I look at thp C "
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;_.
The four years passed qult:lcl&r and the day came when
I finally had to leave. I felt sad. I ‘had come as a

sfarqed teenager and was leavmg as a confident and

=t1ng with oﬂigts instead of staymg by
‘when I speak of friends, 1 don t usually

p with them., Whemf later m@ed the corporate
"was agam dmiﬁatea % men. It was only
‘:' : iy
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-the strong, fiery 'mustalrd
- & the .milder ‘
broadleaf tumip-
I sawl a gecko
xil

L Al °

like the rest of us

has been {
ree-lingé _ : :
from tflle heat.

~ Geckos like heat

&
]
. . -

T know this.
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this moment of pleasure

of gecko

joy

as I with so much happiness
‘played Goddess

to Gecko.

Passage 3 (740 words)

- After a dinner of dried apples and wheat cakes slightly
burnt at the edges, and the last of the goat cheese, I
climb the stairs of the farmhouse and find myself in
the bedroom with the white hand- stitched quilt and
lace-trimmed pillows. Whoever once slept in this room
collected pine cones along the windowsill and hung a
i)iéce of cloth above the bed with tiny flowers printed
into the fabric—now faded to pale, watery colors by

the sun.

~ Pa appears in the doorway, his left hand clutching his
pipe while his right reaches into his coat pocket for
the _p'ouch of tobacco. “If anything happens,” he says,

eyes clicking to the window, “run past the orchard
’

r.1.0.
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trigger. It wasn’t just about avoiding a gunfi

10

into the woods, and keep going. If those men com,

back, you need to get away from here. Don’t wait fo =

L%
” el

me.

I touch the window’ frame lined with dust. The clou

have moved away to the south, revealing a wet,

'

B
sky, and I imagine climbing down the roof, drc Jt

to the porch, then sprinting out into the trees:
breath burning my lungs. Maybe I could make
the dark unseen. Or maybe those men would‘_;‘

me and drag me back to the farmhouse.

I wonder if he’s been thinking about this s
left the miners’ cabin. Maybe this is why he te

rifle from me when I was so close to pull

was worried what would happen if they saw th
on my neck. He didn’t caré about Odie,
supply in the cabin—he only cared about a
sure they didn’t discover.'who '] am. “
have taken you, Vega. And I'm not sure I “
to find you.” : i
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', His words make me feel instantly cold, an echo across
flesh. My name, my past, the marks on my skin...

t me in danger. Put everyone near me in danger.

Bnt I wonder- if maybe death isn’t the worst thmg out

’I won’t leave Pa behind. I’ ll stay and fight.
in "_‘--f;ns1de me I can’t explain. A stubbornness

7same part of me that refused to lower

“bones, a thirst that is
r. But a need to survive.
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Pa glances down the hall, listening, like he hears
'something. But it’s only the house settling, the last of
the rain shedding from the roof. “Get some sleep,” he
says at last. “We’ll leave just after sun-up. Fort Bell
is still a day-and-a-half walk from here, and we don’t

want to- miss the market, sell what tonic we have
lefy.”

I nod. Another day and a half lost. Another day and ‘
a half ticking closer to the end. He slips away down
the hall, and I hear the thwap of the front door as he;t

walks out onto the porch.

I slide open the bedroom window and let in the nigk t
breeze, listening to Pa puff on his pipe from the front
porch. 1 doubt he’ll sleep tonight; instead he’ll watch

the road, listening for any distant sounds of ho .-."'r"

the halls of the old ho_use. I like it here, wi f

sweet-smelling orchard and tall, protective

hidden driveway.

- But we can’t stay.
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I watch the. horlzon, the swnrlmg, spinning universe

(3x10=30)

reciprocate
not? Give
(16),,

-nb

s
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3
i

3. Why does bathing the gecko make the poet in Passage
2 feel happy? What does “being a Goddess to gecko”

mean in the last stanza of Passage 27 (10)

4. Is the speaker in Passage 3 in a state of panic or
i1s she trying to face the situation she is in with
some courage and bravery? Do you think she is

afraid because of the danger she is in? Why or why

not? (10)

5. What do you make of the speaker’s father from the
~ description given in Passage 3? What kind of a person

is he? What do you think his relationship with the
speaker is like? ' (10)

PART B

4 ."‘_'Wef any 3 of the following : (3%1 5=4
‘Questions 6 & 7 are based on Passage 1; _

?B 8 is based on Passage 25

: ; * a -"is.. '
ons 9 and 10 are based on Passage 3;
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of Passage 1. Write a
ur emotions about your
ates and your decided

circumstances. (15)

2, who is not scared to
en, many people are revolted

matur.es Imagme that the poet

13 mtenscly afraid of creepy-

ounter with the gecko. Draft a

‘thby judge the- incident
ol (15)
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Your Roll Nb.osesscaccecs
Sr. No. of Question Paper : 328 C
Unique Paper Code : 52031902 ;
Name of the Paper :  English Fluency
Name of the Course : B.Com. Programme
Semester 2 A AR
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

¥

Write your Roll No. on the top immediately on receipt
of this question paper.

SECTION - A
Attempt ANY THREE questions from the section.
Each question carries 15 marks. (3x15=45)

Read the passage given below to answer the questions
that follow :

Well Rescued

Ulhas Mandlik, 35, a power-loom owner from
Ichalkaranji, Maharashtra, and his mother were
homeward-bound one evening when heavy rain forced
them to take shelter beneath a bridge. Not far away,
a small group of labourers huddled together under a

- part of the cement housing above a 16 metre deep

well used to pump water for irrigation.
| P.T.O.
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Suddenly, Mandlik and his mother heard the labourers
scream. When the two got to the well, they were told
that a five-year-old boy named Hariya had fallen in
through a side opening in the structure. Ignoring his
mother’s fears, Mandlik quickly knotted together
lengths of flimsy rope belonging to the labourers and
asked them to lower him into the dark well. “I hope
the rope holds,” he thought. As he descended, Mandlik
noticed the metal rungs on the wall of the well. He
grabbed hold of one and started climbing down, when
he saw the boy clinging to a pipe running up the
well’s centre. Grabbing the child, Mandlik started to
climb praying that the old rungs wouldn’t give away
and plunge them both into the churning water below.
Their luck held and within a few minutes, Mandlik
clambered to ground level and handed over Hariya to
his sobbing father. |

The man fell at Mandlik’s feet and offered him some
money as a reward. Refusing the cash, Mandlik took
Hariya and his family to a nearby eatery and offered
them steaming tea to warm them up. Several
organisations have honoured Mandlik for his bravery
and presence of mind on that wet day three years
ago. “I am happy I was at the right place at the right
time,” he says, “and was able to return a little boy to
his family.” (289 words) |

Answer the questions in about 75-100 woré’&“ each :

(3x5=15)

(a) What first drew Ulhas and his mother to the well?
e

35
P At

AL

350




328

3

(b) What were Ulhas’ mmher s fears really associated
with?

(¢) What can be lqarnt’ifﬁolﬁ the report?

(d) How does Ulhas viéw the whole incident?

(¢) Explain how Hariya’s father felt after meeting his
son. ~ - '

;.;?

Write é. paragraph in about 400-500 words on Role
puters and Internet in everyday Lnfe (15)

nager in a company. Also include your
' (5+10)

the office. Write at
(15)

2] (5)

thﬂ%"fm.: think your
ou : basxs of your 2
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SECTION - B
Attempt ANY THREE questions from the section.
Each question carries 10 marks. (3%10=30)

Write a summary of the passage given in Section A—
Q.1. in your own words. (10)

Write a letter to your friend telling her/him about the
wedding of your sister/ brother and that she/he missed
the fun by not being able to attend it. (10)

Write a letter to your principal informing her/him
about the medical emergency at your home and to
give you leave for a week so that you can lookK after

your family member. (10)

Punctuate the following with commas, full stops,
inverted commas wherever. necessary :

spring while we are writing is here the winds blow
gently the birds the flowers and the buds all proclaim
the coming of spring (5)
he said why do you come and disturb me what a
nuisance you are why cant you play somewhere else
can,t you see that i want to work go away at once
and do not come here again. (5)

Edit and rewrite the following pafagraph: (10)

The next day during an (1) break when all the teacher
(2) and students was (3) eating their snacks, the
mother left the school building hurrily (4). The boy
saw him (5) walking quickly from (6) of the school
gate when he was drank (7) water after his meal and
wonder (8) where the (9) mother is (10) going.
(4000)
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Al @ o Adw

1

W -1 @ fiel & 3w Re w FuiRa @@ W A9
FgwHE ffaw |

o g HfEd #

URA® UH B A& G B

T W -TF & I Fon a1 BE FR v s F S,
AR o I W AW UE B Bl AR

Explain any five different types of entrepreneurs in

brief. (15)

Al i R TER @ SaRal @ Wl ¥ svem
EAimd

OR
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State in detail, with examples, different Social Media

marketing platforms available to a Netpreneuer.

(15)

R Ao @ v e R dwe @ARar wERT
WChH ® AR A I |iRd fAwR ¥ Tqw)

2. What are the factors that provide motivation to an
entrepreneur? Explain in detail both the internal and

external factors. (15)

¥ - FRE ¥ W UEF ITN F RN WO FR B
FaRE: I TR A FRE B RAER A TEE

OR

PR
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Hqan

Discuss the concept of Family business in India.
Briefly explain the reasons for conflict and strategies

to resolve conflicts in family businesses. (15)

mﬁqﬁa@ﬁmaﬁmaﬁﬁaﬂﬁmm’
TEERA F TEA B FRON AR I THAA D FA HA Wl
TERE 3 9899 A =rREn Sl

3. What do you understand by the term Business
opportunities/ideas? What are the prerequisites for a

good business idea? Discuss any five techniques of

finding new business ideas. : (15);.“

o e /AR ¥ s o w37 uw o
v o & g w s v 87 v s



by Project Appraisal? Discuss

" project appraisal. (8)
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Explain the concep
Discuss the strate |
entrepreneurs. (15)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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2. Ot ww =g |
3 wft v D FE A

4. TEWE - H I oM a1 B i v o F Ao, i
| ITR HT AEAH U B BT =R | |

1. (a) Explain the concept of “Human Resource
Management” and its functions. (7) T

(b) How is HRM important to both individuals and |
organizations? | ]

OR

(c) Explain in detail the competencies required of HR

manager to perform his functions effectively.

objectives and importance.

2. (a) What benefits can socialization offer for the
employees of an organization? (7

(b) Differentiate between job description and j
specification. What steps are involved
preparation of a job analysis? '
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(OR)
(c) A great number of external sources are available

for recruitment. Which tool will you select? Give

reasons for your answer. (7)

(d) Explain the concept of quantitative and qualitative

aspects of HR planning. (8)

3. (a) “Systematic analysis of training needs is a
prerequisite in designing and conducting a training

program”. Discuss. (7)

(b) Briefly outline the steps involved in conducting a

training program in a systematic way. (8)
(OR)

(c) What is the significance of proper selection of

employees in a fast-growing Manufacturing

company in India? - (7)

(d) Explain the steps to be followed in the selection

process of employees. (8)

1.0
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4. (a) Distinguish between job evaluation

performance appraisal.

~ (b) Why is performance appraisal necessary in |
organizations? Discuss Management by Ob: €

~ technique of performance appraisal.
(OR)

(GY Explam bneﬂy the behaviorally anchored

r{‘ Maata as a method of performance appra: :
‘ ..}J 5erey M A

(d) Explam the essent:alvs of an effective perform
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S

L (3r) A EEET VU & EuRon AR @ wa

Ry Sk M

(%)

(®)

el it | (7)

TIARGH Al AR A Al @ forg R wEeEg
37 (8)
(@)

I FE W OANE W ® FA @ g WA
TEA YEUE # AEAEE A & an ¥ fAER ¥
E L] (7)
wFE g AaeE @ oivifte it @ Rl
vq WEe @it fEaEen wifew) (8)

UF HI5H B AY HAAIRA @ Y FASIESOr
Vo FW wEhAl 87 (7)

Fd a3k & AT @ @ Fw @it
4 Ao & 3@ ¥ BT ¥ Few miwa 27

(ei

. 1.0;
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()

(@) vt ® fr o @em ¥ wEQ A4 I B
A - TE A7 g oA B e wRw
<fsel - ()

(2) o A & e S e s A

& R Fifere) (8)

3. (%) st wdE W R T o atE we A
'E"I w4t ﬁﬁl‘lﬁ (7) .-
e WON W FAT A FRE TS S

(=)

(@) v ¥ ¥k & P B ol P e ¥

*mWﬁWmi?



Hiforg) s (7)

(@) nyfw dreA ¥ Fewes wwET w wEEE 27
v FeareT N Ry TFEE g0 vEuT w o
Fifom| (8)

()

(@) weis i &t v R & w0 ¥ amERs v R
fer den = At waw ¥ = g (7)

(z) v wd Foaee EE Tl @ s g @
R | | (8)

5 frefafem ¥ ¥ el A W AR o e

(%) $-vaARGH M T TAARGH

P.T.O.







by [This _ﬁestion paper contains 16 printed pages.]

Yo“r Roll NOIUUOOOOOOOQUO.U

Sr. No. of Question Paper

318 (_3

Unique Paper Code : 52417505

Name of the Paper Fundamentals of Financial

Management
Name of the Course : B.Com. (P)
S,emes‘ter wy
\

Duration : 3 Hpurs ' ghis. Maximum Marks : 75




318 2

k.

T W ® IR G |
TR W F S e R
HURY REFHACT D ITART & A 2 |

29 V- 93 &1 IR el a1 B it v v A Afore, Al
T ITU T AEHH Uk B BT AR |

(a) Why is it inappropriate to seek profit maximization
as the goal of financial management? How would
you justify the adoption of wealth maximization as

an apt substitute for it? (8)

(b) A person wants to award a scholarship of Rs.
1000/- per year for the next 10 years. The first
scholarship will be awarded after the end of one

year and thereafter the amount of scholarship will
grow at the rate of 5% per year to offset inflation.
Find the sum to be invested now for this

scholarship if the rate of interest is 10%.  (7)

OR

(a) “Cash flows occurring at different points of time
are not comparable”. Explain the reasons and how

can they be made comparable. : 8)
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(b) A 4-year annuity of Rs. 3000/- per year is
deposited in a bank account that pays 9% interest
compounded yearly. The annuity payments begin
in year 12 from now. What is the future value of

the annuity? (7)

The Compounded Value Annuity factors at 9%

are :

100 1209 | 327 | 457 | 598 | 752 | 920 | 100 | 13.0 | 151 | 175 | 201 | 229 | 260 | 293 | 330
0 s 3 X

ABC Ltd. is considering the introduction of a new
product. It is estimated that profits before depreciation
would increase by Rs. 1,20,000/- each year for first
four years and Rs. 60,000/- each for the remaining
period. An advertisement cost of Rs. 20,000/- is
expected to be incurred in the first year, which is not
included in the above estimate of profits. The cost
will be allowed for tax purpose in the first year.

A new plant costing Rs. 2,00,_000/- will be installed
for the production of the new product. The salvage
value of the plant after its life of 10 years is estimated
to be Rs. 40,000/-. A working capital investment of
Rs. 20,000/- will be required in the year of installation

P.1.0.



318 4

of the plant and a further Rs. 15,000/ in the following
year. The company’s tax rate is 30% and it claims
written down value depreciation at 33.33%. If
company’s required rate of return is 20%, should the
company introduce the new product on the basis of

net present value? Ignore tax effect on Profit/Loss
on sale of asset.

The Present Value factors at:

Year 1 2 3 4 5 6 7 8 9 10

PV factorat 10% | 0.909 | 0.826 | 0.751 [ 0.683 | 0.621 | 0.564 | 0.513 | 0.467 | 0.424 | 0.386

PV factor at 20% | 0.833 | 0.694 | 0.579 | 0.482 | 0.402 | 0.335 | 0.279 | 0.233 | 0.194 | 0.162

~ (15)
OR

(a) Discuss the reasons for conflicting ranking under
NPV head IRR techniques. Which method is
preferable and why? | (8)

(b) A company is considering a proposal of installing
a drying equipment. The equipment would involve
a cash outlay of Rs. 6,00,00_0/- and net working
capital of Rs. 80,000/-. The expected life of the
project is 5 years without any salvage value.
Working capital is to-be realized in last year.
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Assume that company is allowed to charge
depreciation on straight-line basis for income tax
purpose. The estimated before tax and deprecation
cash inflows are given below :
Year ! 2 3 4 5
Cash | p52,40,000 | Rs.2,75,000 [ Rs.2,10,000 | Rs.1,80,000 | Rs.1,60,000
Inflows

The applicable income-tax rate to the Company is
35%. If the company’s opportunity cost of capital
is 12%, calculate the equipment’s Payback Period,
Net Present Value and . Also advice the Company
regarding installation of the Equipment. (7)

The Present Values factors at 12%, 14% and 15%

al i

Year 1 2 3 4 5
PV factor at 12% | 0.8929 | 0.7972 | 0.7118 | 0.6355 | 0.5674
PV factor at 14% | 0.8772 | 0.7695 | 0.6950 | 0.5921 | 0.5194
PV factor at 15% | 0.8696 | 07561 | 0.6575 | 0.5718 | 04972

3. (a) Why is the cost of Debt is generally lower than

the cost of equity? (8)

(b) The share capital of a company is Rs. 10,00,000

with shares of face value of Rs. 10. The company

| o B I
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has debt capital of Rs. 6,00,000 at 10% rate of '
interest. The sales of the firm are 3,00,000 units
per annum and the selling price of Rs.5 per unit
and the variable cost is Rs. 3 per unit. The fixed
cost amounts to Rs. 2,00,000. The company pays
tax act 35%. If the sales increased by 10%,
calculate : SIeE: P

leverage at the two

(7)
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dividend of Rs. 2 per share at the end of current
year, which will grow at 7% for ever. The tax
rate is 30%. You are required to calculate the
weighted average cost of capital using book value
weights and market value weights. (7)

(a) Critically evaluate the Net Income and Net

Operating Income approach to capital structure.

(8)

(b) Companies U and L are identical in every respect

except that the former does not use debt in its
capital structure, while the latter employs
Rs. 6,00,000/- @ 15% debt. Assuming that (i) all
the Modigliani-Miller (MM) approach assumptions
are met, (ii) the c;orporate tax rate is 30%, (iii)
the EBIT is Rs. 2,00,000/-, and (iv) the equity
capitalization of the unlevered firm is 20%, what
will be value of the firms, U and L? Also determine
the weighted average cost of cap1ta1 for both the

firms. (7)

OR

(a) From the following information, ascertain whether

the firm is following an optimal dividend policy as
per Walter Model?

PIL,

b



318 8 8
Total Earnings Rs. 2,00,000/ 2 "
Number of equity shares

(Rs. 100/- each) 20,000 ";
Dividend paid 7 Rs. 1,50,000/-
Price/Earnings Ratio‘ j 125

The firm is expeemd to maintain its rate of retum
nt. Mso find out what should be*
‘at which the dividend policy W1lﬁ
have no eff  the value of the share?  (8)

on fresh investment

ompute the duration of

R ol TR ycle f of the two years and
.j" ft ...," 3, ] & -y
% ; v : g b oo e 2 '
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s

(a) Explain the Baumol’s model of cash management
in detail. (8)

(b) What do you understand by the optimum dividend
policy of the Firm? (7)

OR
Write short notes on any three :
(a) Gross & Net Working Capital
(b) Indifference point
(c) Arbitrage process
(d) Economic Order Quantity (EOQ)

(e) Net float (5 Marks Each)

(%) faeia o & @6 & ¥ A Hfswaw 9w A qemw
A FRE 4 87 T IUgE BEer & WA um
FETET W FEE B I e R SRe
BEA 7 ' (8)

(@) wmﬁaﬁloﬂ%mmoo/- T ufy ad
# srEght 3 9EE 21 TE SEgi v af ® S

. : : 3 K
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2 T W H TR IR IaD AE HEHT DS
& e omgRy & af s ad 5% A F TE@
o = W 0% 2, A @ oEga & e s
R # T e o s Sl (7)

1

(%) “Raftr W g ™ B a Ao WA g e

(%)

F7) HRON N TREN FY H IR AT DA GG

W gEAT 2 (8) . §

3000/ - TR N 4 AW F AGE A a4 TF dF
™ ¥ o R W 2 S afde awgfe 9% =
1 WA EEl B AfEE A S 128 9 A g
] 2 affe w1 Wi ae w27 (7)

9% W UhglE Ao AMEH haet 7

2 3 4 - 6 7 8 9 10 111 112 133" 119 |15 |16

oarer
Hrfr
9% TT
T

go a2 k4s 159 7.5 |92 111, 113 |15, |170]20,°50 <1 BENII0: 1 33,
90 |78 |73 |85 |23 |00 |028 021|193 (560 | 141|953 | 019 | 361 | 003

0.  TAE fifitE ve Aw I9rE W W ER W @ R aw

FAAA T T B fF R A UE A U 9K F§t

= fow v@% af 120,000/ - T ¥ WQW S

yafr & fore w2 af 60,000/ - ¥R T TEA qE A

N S e

[ IS NI S AR,



fase R F 9 A 20,000/ - w0 =S Y A I 2,
T AR F I I F Wi w6 2| vEy a F AW
RW & fv avE N FEE & wom

T 2,00,000/ - T #l AWH 3

w49 w1 AR = 4
& o ® af ¥ 2 - TR @ e g R

¥ ¥ sfaftas = 15,000/ -
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(3) PO — LG

% wol w A A-@ A e R R |
T4 ? (3)

Wﬁﬁgﬁﬁaﬁmaﬁw@ﬁ?ﬁ%*m
o faR ¢ @ 21 ITE ¥ 6,00,000/ - T H
Jee TR AR Y@ FEde G € 80,000/ - S
B qRarsE @ afeE Siae faen R e
& 5 af 2 AN g F fod af ¥ w{qe
S 21 A AR B e A ade B 39w @ @
¥ B HER W [EEE T # FAE B F AR |
AR 4 A vaE W FE A R w2

qreT 1 2 3 4 5
THAT L %, ¥ 3 %,
TATE 2,40,000 | 2,75,000 | 2,10,000 | 1,80,000 | 1,60,000

FHIA W AR FTF W 35% 21 AR FHIN A g
= FEE AE 12% B, A ITHO A AW #N

€ T ed AR A A0 AR ITHE T R
HEy ¥ wOA F G WAl (7)

12%, 14% 3R 15% T TG Ao Baed B :
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ar= 1 2 3 4 | 5 :

12% 7T F 4t S 0.8929 | 07972 | 0.7118 | 06355 | 0 50744:

| 14% Tt e 0.8772 | 0.7695 | 0.6950 | 0.5921 | 0.5194
‘ 15% T it S 08696 | 0.7561 | 0.6575 | 0.5718 | 0.4972

3 (3) =W &t 9 I™M 4R W IEFES ) e 4 W o
Bt B7 (8)

(T) TH FHT A IR G 10 TR F AFA qF B 39
% 99 10,00,000 T B FIA F IH 10% AA H
T 6,00,000 T F FT GoNt B T &1 R 3,00,000
gfe wfa af ? AR feR s T R g Sk
Radea e 3 ¥R i gfie ?) fw wEE @ afa
2,00,000 ¥ B FTR I IR 35% W WWEH
=@ %1 3 RAR A 0% AN I AR 2, A e
Hifow

(i) #ew ¥ wfawE i
(i) & =R W IREEE I R R T
(iii) A A W A I|eE i R (7)

at

P.T.0,




318 14

() sfét W 2 A smuwon W AR F =
(8)

(@) - fafee @ Feafifer GO @ 2

T o T (2,00,000 97 %.40,00,000
6% TETAT T 10,00,000
89, e %.30,00,000
77 | 80,00,000
T

FE @ IR FR T AR A4 20 T4 B I
2 o w0 e ad & S ¥ 2 ¥ A IR F A
M, EW 7% F W A @A T A A 30% B
TR TF A A AN AHC 3G AT F I FE
T3t @ WRe Jed @wE Ao w2 (7)

s (%) TR G R U Y@ W SR @ wRAeE I
gteanior = TR AR H (8)

(@) FE U AR LR A § e P, R S v
FER g G A W W IEN AE wAR B, F@w
L 6,00,000/ - @15% Y F TR FE B w'
w gy (i) o AR - frew (Trow) gRewm
araa A g e W ®, (i) FioRe we oW W™
30% #, (iii) SRS 2,00,000/ - T # W (iv)




(%)

15

FAAAE A F IR g 200 2, wH, U 3R

L &1 ¥F H OB A wA @ fg o A wika
Faa | W A Fifo (7)

o

ffeiftaa S=e@ A, war #ifse f&F @ g w@Ew
® FER B TR AW A 9w @ 2

HA FA %. 2,00,000/ -
s I & wEn

(% 100/ - WRF) 20,000
TN T IEH % 1,50,000/ -
T/ FE FAIE 12.5

w4 § I @ ot # f aF A em w s Red
# = qAY @ gE N TE ahe & oaw f8
FE @ B wifee fE W o A o @
T W EE gAY (8)

fpfafiad 31 @, @ @l A A w@F & A aftas=
@ & Faf @ e Fe JR) e /R w R

#Hifow

P.T.Ox

£ e ¥
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Year 1 Year 2
(Rs.) (Rs.)

Stock:
Raw Materials 20,000 27,000
Work-in-progress 14,000 18,000
Finished Goods 21,000 24,000
Purchases 96,000 1,35,000
Cost of Goods Sold 1,40,000 1,80,000
Sales 1,60,000 2,00,000
Creditors 32,000 50,000
Debtors 16,000 18,000

FFQRYAA Jel @ faw wfy ad 360 BT W= Aifsw

(7)

5. (¥) wIo9ie & TG WEUA B Wige # fAER ¥ G99EEe)

(8)

(@) W A eaw AW A ¥ 9w w27

ar
| ot d w afere Rofirl fofew -
QECE SRR O
(|) e fag
(1)  FemewaT wfkan
() Toef it s (§ie)

(7)

(¥) I wie - (5 3w w)

(10,000)

|
|
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st & fog fFAdw

1 wmaﬁ%ﬁaﬁﬁmﬁqwﬁuﬂi’amwm'
IR fofa |

2. TE W-UT & IR N a1 R R v wwr 7 AR,
AfFT o I w1 wemw s ) Ber wifRe

1. (a) “Running a training and development department

in an organization is a challenge.” Do you agree

or not, support your answer with appropriate

arguments.

(b) What are the objectives of assessing |
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qﬁwaﬁaﬁmmmmﬁ%a@mw%‘?

OR

(a) How training is different from learning and how it

helps in career development? (7)

ST R FESE ¥ B oW 2 3N TaE aE SRa
& fTom ¥ wew w@ 27

(b) Briefly explain different stages of training

’ programme. (8)

wiEem e & At ol & §8w ¥ =mwen
HifeTel

2.  What is audio-visual method of training? Also discuss

its importance and types? (15)

WfSeqor &1 IIA - e FAHT R 27 WS HEA W WEFN W

W ow= Fifoe?
e 4
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OR

What do you understand by learning curve?
Diagrammatically explain the different types of

learning curves? Also highlight the various principles

(15)

of learning?

aFfT =4 ¥ a9 @ wEr 27 v v @ a0 74
F & w1 A gEEEy? Atrm @ e e w o

WeRTa =TfeT0 7




of training evaluation?  (15)
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(@) wearera @1 @ - o fafe
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OR

Write short notes on following:
(a) Learning in educational institutes
(b) Training challenges faced in India.

(c) Transfer of Training
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Why dooorganizations use computer-based traming

(CBT)? What are the advantages and disadvantages

of CBT tramning? (15)

-amm‘qaﬁmﬁuM(CaT)wmﬂmf?
A0 v § TR ek qeae w20

OR

Write short notes on any three of the following-

1. Action learning

rJ

Refresher training

3. Role of development officers
4. Workplace training

5. Coaching and mentoring (13)

-
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OR

What are the criteria for segmentation of the market?
Discuss any two methods of segmentation of the

market adopted by the marketers. (8+7)

AGIR & @A & AHES o 27 e | s W
el "R fawsE @ fFE @ A 9 9=t e

3. (a) Discuss briefly how advertisements are regulated

in India?

(8)

#Mﬁﬁﬁm%mﬁﬁmﬁaﬁ%ﬁm
fafafe frar s 27
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(b) What are the creative elements of a print

advertisement. (7)
fiic fasmas & wAETE dd @ 87

OR

(a) What is the significance of headlines in print
advertisement? What are the different types of

headlines? (8)

fiie fasmom ¥ |l @1 w1 W' 27 fafv= waw @
wider w27

(b) What are the advantages and disadvantages of
In-House ad agency and Out-Sourced Agency for

an advertiser? (7)

m%mw-mmmmm-m

?’:}&.
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4. (a) What are to be considered in choice of media

selection decisions? (7)

fifear & =g dqe fAoia F fohe @l w faer fman s
<Ry ?

(b) Differentiate between rational and transformational

appeals with examples. Which type of appeal
would you choose for the products like banki

services and tourist destinations.

Fife) AT FaA R T A R I
o @ yER ) e TR
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between Pre-test and Post-test
ts of advertisements with examples

(7)
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